® ® ® © ©

®dn 5
o.o.@lo. :n MH
8 B B
@n@l@l.- FU 3
? TR
o.ololol L Lololu mﬂ o
Sp o.clo

Sum (3) mumm S
@l@. @' -
ol cEmOM gy @L@L s

e 160 ___NE&)
& mm __m el Y6 Nol
- el — e © wem IS @T
ok ommom ik o o = 0 OW8
ol cmmomm @4 G S U @T
@ @I @.@. p -
B e -
&l 15 i @.@. @. )
@I e I8 | @.
° [l comom cii ‘-9




KIT-PRY-MSS-001: LARGE FIXTURE KIT

86-95

92015A113

M4X8MM SET SCREWS

1-3 S01-500-1000-001 1/4-20S0 1/2" OD x 1" L 3

4-6 S02-375-375-002 M4 SO 3/8" OD x 3/8" L w/Pin 3

7-9 S02-250-375-002 M4 STANDOFF 1/4" OD x 3/8 L w/PIN 3

10 SV2-375-1000-001 ADJUSTABLE V BODY 1
11-13 SP2-250-500-001 NON-MARRING CONICAL RESTING PIN 3
14-16 S01-500-500-001 1/4-20S0 1/2" 0D x 1/2" L 3
17-22 S02-188-500-001 M4 SO 3/16" OD x 1/2 L 6
23-28 S02-250-500-001 M4 S0 1/4" 0D x 1/2" L 6
29-34 502-375-500-001 M4 SO 3/8"ODx 1/2" L 6
35-40 S02-188-375-001 M4 SO 3/16" OD x 3/8" L 6
41-46 S02-250-375-001 M4 SO 1/4" OD x 3/8 L 6
47-52 502-375-375-001 M4 SO 3/8" OD x 3/8" L 6
53-55 SM1-500-1000-001 MAGNETIC STANDOFF 1/2” OD x 1” L 3
56-58 S02-375-500-003 SPRING PIN STANDOFF 3/8"OD X 1/2 L 3
59-61 SP2-375-475-001 SPHERICAL RESTING PIN 3
62-64 SC2-375-1000-001 ADJUSTABLE CONED RESTING PIN 3

65 V41-PRY-STD-001 1" SQ MAGNETIC V-BLOCK 1
66-68 SM1-500-500-001 MAGNETIC STANDOFF 1/2” OD x 1/2" L 3
69-71 SM1-750-500-001 MAGNETIC STANDOFF 3/4” OD x 1/2” L 3
72-74 SM1-750-1000-001 MAGNETIC STANDOFF 3/4” OD x 1” L 3
75-76 TC2-PRY-STD-001 TOUCH CLAMPS (LIGHT) 2
77-78 TC2-PRY-STD-002 TOUCH CLAMPS (MEDIUM) 2
79-80 TC2-PRY-STD-003 TOUCH CLAMPS (EXTENDED) 2
81-83 SA2-PRY-STD-001 MICRO SLIDE ARM 3

84 C14-PRY-STD-002 MICRO CORNER 1

85 V11-PRY-STD-013 MICRO VICE 1

10

96-105

92015A116

M4X16MM SET SCREWS

10




106-109 SC2-375-1000-002 ADJUSTABLE STANDOFF STEM 4
110-114 92311A537 1/4-20 x 1/2"L SET SCREWS 5
115-124 SO5-PRY-STD-001 M4 TO 1/4-20 CONVERTER 10
125-127 96016A117 M4x10MM THUMB SCREW 3
128 389 LOCKING WRENCH 1

129 7289A12 M2 HEX ALLEN WRENCH 1

130 7122A18 1/8” HEX ALLEN WRENCH 1
NOT SHOWN 91294A192 M4x12 SCREW 5
NOT SHOWN 91828A231 M4 LOCKING NUT 10
NOT SHOWN 93475A230 WASHER 10
NOT SHOWN 4629767 ORGANIZER BOX 1




